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-1-

r——-

L — — -



A
GENERAL KNOWLEDGE

A= 2025 # FAar faferma < arer geeft W wed gt 3raie It o e A R 7

(A) Toreret Tefter (B) SReft gE (C) S T (D) g foemr
What is the name of the astronaut who returned to earth along with Sunita Williams in March 2025 ?
(A) Victor Glover (B) Jeremy Hansen (C) John Glenn (D) Butch Wilmore

e TSR 3T S8 9 1 58 1 519 319IRey =ifvya fepam o, feforfga & @ form o= ©
feua g ¢

(A) TEITA (B) AEIYSH (C) HfoTR (D) HERTSE

Madhav National Park that was declared India’s 58 Tiger Reserve is situated in which of the following

States ?
(A) Meghalaya (B) Madhya Pradesh (C) Manipur (D) Maharashtra

frafafaa 9 9 foraept 2024 7 ‘v T’ @ wwATAa foRam TR 2
a. W, Ug. WA

b. =erdt =T fig

c. gft ST

d. gwda g

Fr feu o fospedt @ & wE SR g

(A) H a (B) %ot ad b (C) Hact a,bd (D) %t a,b T d

Who among the following has been awarded ‘Bharat Ratna’ in 2024 ?
a. M. S. Swaminathan
b. Chaudhary Charan Singh
c. Karpoori Thakur
d. Harmanpreet Singh
Choose the correct answer from the options given below :

(A) Only a (B) Onlyaandb (C) Onlya,bandc (D) Only a,bandd
TETes aasia 3R fefafga d 4 fFr oo § fag 2 7

(A) HETIS (B) I (C) BeiETg (D) e
Mhadei Wildlife Sanctuary is located in which of the following States ?

(A) Madhya Pradesh (B) Uttar Pradesh (C) Chattisgarh (D) Goa
TR i T FH YT 3R TH0 | ST &l & S &Ia: 41 8ial &

(A) hfeIm Hraie o1 (B) BRI ®TEhe

(C) hicTH HEH i (D) Sfcyrm HAFaeie %

Our tooth crown remains capped with hard enamel which is principally made of

(A) Calcium Carbonate (B) Magnesium Phosphate

(C) Calcium Phosphate (D) Calcium Oxalate
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6. TA.3.9. 2020 % FTER AreAtHeh fqamery fren o Swavia foha sheaati =t wfiet fepm mm 8 2

7.

(A) T 6 HaTT 9
(C) Tl 5T el 8

(B) eI 48 HaT 6

(D) eI 6T el 8

Which classes are included in the middle school education according to NEP 2020 ?

(A) Class 6 to Class 9
(C) Class 5to Class 8

(B) Class 4 to Class 6
(D) Class 6to Class 8

fratafaa 9 9 foraa ga e hi staamon o1 gfqured fmam e ?

(A) *ft arfser
(C) Tt faeerr—

(B) T@mt G
(D) S H | IS Tl

Who among the following propounded the concept of Integral Education ?

(A) Sri Aurobindo
(C) Swami Vivekanand

T — | ! F - 11 Ty guferd L |
g -1

a. Torers farem .
b. SRR =T =TT I.
c. SATadTReh e .
d. W forem IV.

= feu U e § § T W g

e

(A) a=1IV,b—-1,c—1l,d-1l

(C) a=Lb=1IV,c=Illl,d-1l

Match List — | with List — II.

List -1

Teacher education l.

Technology use 1.

Professional education .

d. Adult education V.

o oo

g -1l

.39, 2020 T AR 23
w.3.9). 2020 T JEF 20
.59, 2020 T AR 21
.39, 2020 T JEF 15

List -1l

Chapter 23 of NEP 2020
Chapter 20 of NEP 2020
Chapter 21 of NEP 2020
Chapter 15 of NEP 2020

(B) Swami Dayanand
(D) None of the above

B) a—IV,b—1,c—Ill,d—Il
(D) a—1,b—1V,c—1Il,d—1Il

Choose the correct answer from the code given below :

Code :
(A a=IV,b=1l,c=1l,d-1l
(C) a=lL,b=IV,c—=1ll,d-1l

.3 2020 F 3.4 .HL3. k1 31 @

(A) TRITh STeaTaET 6t T@aTe 3 e

(C) s h Iaq f3rem e e@va

In NEP 2020, ECCE stands for

(A) Early Childhood Care and Education

(C) Enhanced Childhood Caring and Education

-3-

B) a—IV,b—1,c—Ill,d—Il
(D) a=1,b—1V,c—1II,d—1Il

(B) Rtk SR shivgd frem
(D) S 1 HIS @A TF e

(B) Early Childhood Centered Education
(D) Efficient Childhood Care and Education
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10. Tr=ffea & @ & v wRa § TSI GoATohd U9 TR 9Hwe (NAAC) 1 ST Bishd 8 7
(A) BET I T TgrRar Y= ST (B) Tervaferamer™ waer qfien sRifSa e

11.

12.

(C) 3= T3ren TTMT 1 IeIRA (D) TEAHT § =M hrE 1 fafrema

Which one of the following is the primary focus of the National Assessment and Accreditation Council

(NAAC) in India ?

(A) Providing financial aid to student (B) Conducting university entrance examinations

(C) Accreditation of higher education institutions (D) Regulating tuition fees in institutions

amife faeh@ & fou PURA gfeesrivn frmfaifaa o & foraes femm &t 3ow1 2 7

(A) TETEA fag (B) T. . It 37eget HeH
(C) 3| T (D) 3T | & P13 6l
PURA approach to economic development is the brain child of who among the following ?
(A) Manmohan Singh (B) A.P.J. Abdul Kalam
(C) Amartya Sen (D) None of the above
gt — 1 B g - 1 | gafaa S aur giuet % e feu T e @ wE s wm RIfe |
T - g - I
() (Tfa 3am)
a. TSIEH . THE TSR 39
b. BTG 1. fom et Tedia 3
c. 319Y 1. SgTadt TS 3T
d. fewrea wem IV. Shaeed TG IaH
e :
(A) a=1IV,b=1Ill,c—Il,d-1I B) a=1IV,b=Ill,c=1,d-Il
(C) a=1lll,b—=IV,c—1,d-1l (D) a=Ill,b—=1IV,c—1l,d—1
Match List — | with List — Il and select the correct answer from the code given below the lists.
List -1 List -1l
(State) (National Park)
a. Rajasthan I. Manas National Park
b. Chhattisgarh [I. Pin Valley National Park
c. Assam Ill. Indravati National Park
d. Himachal Pradesh IV. Keoladeo National Park
Code :
(A) a=1IV,b=1Ill,c=1Il,d-1 B) a=1IV,b—1lll,c—=1,d-Il
(C) a=Illl,b=1IV,c—1,d-1l (D) a=Ill,b—=1IV,c—1l,d-1
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13.

14.

15.

16.

17.

18.

@ + 20 gera: fF=fafea § o from wwefaa & 2

N UREREEE (B) gaq feshra

(C) ST frmm (D) o TREU

Rio + 20 is mainly related to which of the following ?

(A) Economic development (B) Sustainable development
(C) Population control (D) Forest protection

T IR w7

(A) ST deaeh wid T8 (B) TR & Wi U&=

(C) 31 e Wi YgaH (D) TerETId TS Wi Tge

What does ‘ANPR’ stands for ?

(A) Automatic Network Plate Recognition (B) Automatic Number Plate Recognition
(C) Advanced Number Plate Recognition (D) Automated National Plate Recognition

“Taq fasma’ =1 femm form o sifedea & amam @

(A) 1972 (B) 1980

(C) 2007 (D) SudH | & *IE T

In which year did the idea of ‘Sustainable development’ came into existence ?

(A) 1972 (B) 1980

(C) 2007 (D) None of the above
frferfea & @ ®F v fiAgRa W 8 ?

(A) HiET (B) Eiferm

(C) TTEENHA (D) HTeH THISTFETES
Which one of the following is a greenhouse gas ?

(A) Methane (B) Helium

(C) Hydrogen (D) Carbon monoxide
frferRea & @ fope 2024 @ et wnifa QR & FoATa fekam T 9

(A) e & (B) 3T | g

(C) Wl B3 (D) TEM feemerIl

Who among the following was awarded the Nobel Peace Prize 2024 ?

(A) Mother Teresa (B) Aung San Suu Kyi

(C) Malala Yousafzai (D) Nihon Hidankyo
frferRea & @ & T S a1 hisHe faee FieHT & qoid: 9 & o1 ?

(A) TETeHT et (B) JaT&l & 48&®

(C) TER A (D) HIAHT 37 HelTd 3TATG
Who among the following leader of Congress was totally in favour of Cabinet Mission Plan ?
(A) Mahatma Gandhi (B) Jawahar Lal Nehru

(C) Sardar Patel (D) Maulana Abul Kalam Azad
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19.

20.

21.

2005 H T Y FIel SIElhIct 1 AR Iexd &1 & 7

(A) TTTd HETENR | SMfd Tfud s (B) df3eh e SR SAAT
(C) HETEWRIA YguuT ! it e (D) METSH i o IcESH sl A HAT
What is the primary purpose of Kyoto protocol which came into effect in 2005 ?
(A) Establish peace in the pacific ocean (B) Create a global carbon market
(C) To regulate ocean pollution (D) To reduce the emission of greenhouse gasses
1857 < TG < &I =a
a. Tt orgrfias
b. WA AU
c. Sglgl AT ST
d. ¥R fER a7t
A fow o et B @ W SR AT ;
(A) 9 a, b, ¢ (B) e b, ¢, d (C) %aet d, a, b (D) e ¢, d, b

Main leaders during the Revolt of 1857
. Rani Laxmibai

. Bahadur Shah Zafar

a
b. Mangal Pandey
c
d. Mir Nisar Ali

Choose the correct answer from the options given below :
(A) a, b, conly (B) b, c,donly (C) d,a,bonly (D) c,d, bonly

T & I T Targ Jonedt % def # frfafed d 4 wn-a s wd € ¢
a. WRA ® T T} SoTClt Tey 9 |
b. T T ITH IAHM H B |
c. TS qUT JSTT T JUTTeAt ShY ek At § |
d. | 7 T % gIfe q¢ <l YW TEEe TG 8 |
A fow o et B @ W SR AT ;
(A) 9 a, b, ¢ (B) e b, ¢, d (C) ad a, c, d (D) %ad a, b, d
With reference to river Ganga drainage system, which of the following statements are correct ?
a. The Ganga river system is largest in India.
b. Ganga rises in the Uttarkashi.
c. Satluj and Jhelum are tributaries of Ganga system.
d. Son river is its major right bank tributary of Ganga.
Choose the correct answer from the options given below :
(A) a, b, conly (B) b, c,donly (C) a,c,donly (D) a, b,donly
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23.

24.

25.

W gt FHfafed § @ forg qo & e g 7

(A) SIS (B) ™ (C) wrd (D) TIfehEd™
Khyber Pass is situated in which of the following countries ?
(A) Bangladesh (B) Bhutan (C) India (D) Pakistan

‘FiftatifoE ywE’ fefaiaa § 9 foesh afom 2 7

(A) HETETTRI g (B) g2 =1 =i

(C) IrguvEe grel fo=rand (D) F=5HT o1 TEcarehyyl fg=ra
‘Coriolis effect’ is a result of which of the following ?

(A) Ocean currents (B) Earth’s rotation

(C) Atmospheric pressure differences (D) The gravitational pull of the moon

Toredt pIaidl, ST STl 3Tefues afifd (10C) 6t e It I aref! ugelt ufgen s+, fFafefaa
dTafrEmad e

(A) Torramsa (B) IAteefern

(C) STSiet (D) HgaFd T TR

Kirsty Coventry, who became the first woman to be elected as President of the International Olympic
Committee (I0C) is from which of the following countries ?

(A) Zimbabwe (B) Australia

(C) Brazil (D) United States of America

frfafaa o & SH-91/8 T SEEE A, 2000 % 3 B/E 7
1. 2045 T TAHEAT TR T |
2. HTq Jegal Sl 100,000 SHiferd 01 T 100 § = @ |

= feu T e | T W 1 =TI HINT

Fe

(A) e (B) e 2

(C) 1 3R 2 gt (D) AT 1 3R AE 2

Which of the following is/are the objectives of National Population Policy, 2000 ?
1. Population stabilisation by 2045.
2. Reduce maternal mortality rate to below 100 per 100,000 live birth.

Select the correct answer from the code given below :

Code :
(A) Only 1 (B) Only 2
(C) 1and 2 both (D) Neither 1 nor 2
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26.

27.

28.

frferfiga & @ s ged wfirg doit s & 7

1. I TR

2. §ig G

3. Rd | fopeft ot feuiforedt & oy w feuifsed @

= feu T e @ TE T H = IR

Fe:

(A) haa (B) ST 1 3N 3 (C) haet 2 311 3 (D) whaet 1 3R 2

Which among the following are the best known capital markets ?
1. The stock market
2. The bond markets
3. A depository account with any of the depositories in India
Select the correct answer from the code given below :
Code :
(A) Only 1 (B) Only 1 and 3

qRd H foarehl <t T fopma <t 2
(A) Sit. 2. fogen wa 9. 3. €. e
(C) HETeHT el TE QIETHTS AISi
Who established FICCI in India ?

(A) G.D.Birlaand J. R. D. Tata (B) Purshottamdas Thakurdas and G. D. Birla
(C) Mahatma Gandhi and Dadabhai Naoroji (D) Purshottamdas Thakurdas and J. R. D. Tata

Tt — | %1 = - 11 % |1 gafera e qen gl & i for T e @ w8 3w g |

(C) Only2and 3 (D) Only 1and2

(B) JWIeHETE ST Td i, €. fogen
(D) TUEIIHEIE 3IHEH Td A, 3. &, 2T

Tt - | TR -1l
(IR <6 STRR) (sesh)

a. Tafer = Tmer T 1 TR | ITIE - 14

b. & % TR W WeTd | G II. 3TIgT - 15

c. 3T hl GHMAT IIl. 3TE= - 16

d. STEIEdT o 37 IV. 3TET - 17
e

(A) a—1I b—1ll c—1l d-1v

B) a-I b -1l c—Il d-1Vv

(C) a-I b—1lI c—1Vv d-1l

(D) a-1 b-1 c—1l d-1v

Match List — | with List — Il and select the correct answer from the code given below the lists.

List -1 List -1l
(Types of Rights) (Article)

a. Right of equality before the law I. Article —14
b. Protection from discrimination on religious ground II. Article—15
c. Equality of opportunity Ill.  Article — 16
d. Abolition of untouchability IV. Article —17
Code :

(A) a-—1I b—1ll c—1l d-1v

(B) a—1I b -1l c—Il d-1v

(C) a-—I b—1l c—1v d-1l

(D) a-1 b-1 c—1l d-1v
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29. HATRENT hi Jfeehan He= g FHuiia @

The maximum number of members in the Lok Sabha is fixed at

30.

(A) 530

(B) 545 (C) 550 (D) 552

Tt — | <l g - 11 < | gufera Hife qen giei o Fi= for T e | wE sw g |

gt - |
(3rTEEh)
. 3178 50
b. TS 143
. ITTEE 61
d. 3¢ 320

He
(A) a-Il b-1IV

QO

o

B) a-lll b-I
(C) a-1I b-1I
(D) a-ll b-1V

Match List — | with List — Il and select the correct answer from the code given below the lists.

List—1
(Article)
a. Article 50
b. Article 143
c. Article 61
d. Article 320
Code :
(A) a=1II  b-1IVv
(B) a-Ill b-I
(C) a-II b-1
(D) a-1l b-1IV

gt - II
(Fdenteh wraeF)
|. Trsgafe 9 AT
II. ATATICTRT ST IR <h STl Gl
lll. STk |G RN 1 BRI

IV. FaTed =TT o TATahR SRR

c—I d-1l
c—1Vv d-1l
c—1Vv d-1l
c—I d-1l

List—1I
(Constitutional Provision)
I. Impeachment of the President
Il. Separation between Judiciary and Executive
lll. Functioning of Public Service Commission

IV. Advisory Jurisdiction of the Supreme Court

c—1 d-11
c—1Vv d-1l
c—1Vv d-11
c—I d-1ll

40



31.

32.

33.

34.

I
ANTHROPOLOGY

LR T I THE AT W HAYT TSI W gan” | forw A fagia w SR feam 2
(A) TosTg sSITfa <1 STaameT 99 8
(B) @i Isa kel TS % B
(C) F® THd ST 31 & I3 7
(D) $B HFE YSMfd 3 | gfg & I3 8
Which scientific principle did UNESCO emphasize in its ‘Statement of Race’ ?
(A) The concept of pure race is valid

(B) All human beings belong to same species
(C) Some races are superior to others
(D) Some races are more intelligent than others
Frafafea # @ fopm, AHafaR 1 Har fafmg Jonell’ % 31e=E 1 99 a1 g 7
(A) 3. &t TR (B) et SI3ATE
(C) TEett =818 (D) sitfreare aferieht
Which of the following Anthropologist is known for “Kula Exchange System” ?
(A) E.B. Taylor (B) Franz Boas
(C) Leslie White (D) Brownislaw Malinowski

frfafaa # & foraen! T S%hld o IRGHR THT ST & 7

(A) FrmUetee e (B) B! SereH

(C) TSt AME (D) TTEE HHE
Which of the following is artifact of the Mousterian culture ?

(A) Neanderthal man (B) Homo Erectus
(C) Grimaldi man (D) Chancelede man

Frefaftad # | frden foQ STt are-3e99 1 ST foRa STt & 7

(A) TISOT eaTeht (B) el STIHUT

(C) T (A) T (B) (D) SHIF | & 1S Tal

For which of the following Body Mass Index is used ?

(A) Nutritional assessment (B) Obesity research

(C) Both (A) and (B) (D) None of the above
-10-
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35.

36.

37.

frefefaa & @ form SHITa & Qoo™ 19 I YU B & 7

(A) == H (B) TGS TS H
(C) whictt Wged | (D) T Il T
‘Khullakpas’ are the village heads in which of the following tribe ?
(A) Chenchus (B) Tamkhul Nagas
(C) Koli Mahadevs (D) Kadar Tribe
1 =l T ITTRe § Safem i
MRCEICEI
II. TR
IIl. SHTHRaTG
IV. HTEATETG
= few M@ %< T ¥ g8 3™ ﬂﬁﬂ :
(A) 1,11, 1V, 1l B) 1,1V, 11, 1l
(©) 1,11V, | (D) 1,111, 11, IV

Arrange the following steps in a sequence :
I. Evolutionism
[I. Diffusionism
Ill. Functionalism

IV. Structuralism

Choose the correct answer from the code given below :
(A) LILav, B) I IV, 1,1
©C) I, LIV, I (D) 1, 0L, 1, 1v

‘g g% TeEdt 37 TUTeiToIhel TEE AT JEdeh o ol@h (7 § & I & 7

(A) T e (B) w. e
(C) J. TH. HigA (D) &t. &. sfiared
Who among the following authored the book titled “The Life History in Anthropological Science” ?
(A) L. Langness (B) M. Mead
(C) J. S. Modell (D) V.K. Srivastav
-11-
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38.

39.

40.

41.

42.

Frerferfiaa § & i-a weTT Eu foaTE S 3 fore ) Wi @ 7

(A) wETRET (B) fepeita
(C) HUTE (D) IRt
Which of the following tribes is known to practice polyandry ?

(A) Saharia (B) Kinnaura
(C) Kathodi (D) Warli

TG % WA |IEse! hi TATHHT fohg a9 g8 ?

In which year was the Anthropological Society founded of London ?
(A) 1843 (B) 1863
(C) 1864 (D) 1873

foraeh IER €.T.T. 319 &1 Al @S & S A B 7

(A) -T2 (B) & areEd
(C) IR e (D) HehTSeR
According to whom DNA molecule is made up of two long chains ?
(A) Levi-Strauss (B) D. Watson
(C) Gregor Mendel (D) Maclver

‘Sfa w1 AT gEae o @S HiF R 7

(A) T, . 919 (B) T. 3TR. TS
(C) &, 3. 3TaEH (D) Sft. dt. geh
Who is the author of the book “Annihilation of Caste” ?

(A) N. K. Bose (B) A.R. Desai
(C) B.R. Ambedkar (D) G. P.Murdocko

Srerr o dred T 4 | foeed §

(A) - TR (B) To wgfa

(C) (D) I%
“Jangtopa” refers to which of the following ?

(A) Funeral rites (B) Worship system
(C) Sports (D) War

-12-
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43. gAmETg % fSrewEl # yrd e Uy % e frm e F E v
(A) T TNTOT ST
(C) T 9T il

(BEERIE U]
(D) AT 9TSTOT T

Pictures of Giraffe found in the rocks of Hoshangabad belong to which period ?
(A) Mesolithic
(C) Chalcolithic

44. ‘INatuehl’ Tfy fre SHefa 9 grafRe g 7

(A) 3T
(C) s

‘Olchiki’ script is related to which tribe ?

(A) Oraon
(C) Gond

(B) Neolithic
(D) Palaeolithic

(B) Santhal
(D) Baiga

45. T — 1 G - 11 w1y gaferd ST qur gl o e for T e § w98 3w g

T -1

a. IMTCH TUEU

b. UIATEH
c. Y

d.

e
(A) a=Lb-Il,c=Ill,d=1V

et iy

(C) a=IV,b—1ll,c—1l,d—1

Match List — | with List — Il and select the correct answer from the codes given below the lists :

c 9

13

d.

List -1
Foraging
Pastoralism
Agriculture

Shifting cultivation

Codes :

(A) a-1,b—1Il,c—1lll,d=1V

(C) a=1IV,b-=1Ill,c=1l,d-1I

V.

g -1l

LA

B) a=Il,b=1Ill,c—IV,d—1
D) a-lll,b—1Il,c—1I,d=1IV

List -1

. Baiga
. Gond
. Goddi

Sentineles

B) a-1l,b—1ll,c—1V,d—1
(D) a—=lll,b=1Il,c—1,d-1V
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46. foraent weH B for ‘amTies 9T S-S IR <hl 98 W@ 8 S SA1feH 99T R 31eIEH
wA R ?

(A) gaTE-fire=Té (B) wifer-wgm
(C) TSfFa®-si (D) HHTER
Who said that, ‘Social Anthropology is the branch of sociology which studies primitive society’ ?
(A) Evans -Pritchard (B) Levi-Strauss
(C) Redcliffe-Brown (D) Maclver

47. JAIETE % &I VI D I ?

(A) 3. T3 g (B) T TH

(C) ST Ffeem (D) BTG GRS
Who was the main proponent of Catastrophism ?

(A) J. H. Hutton (B) Robert Hook

(C) Georges Cuvier (D) Father Suarez

48. “‘mTSshifettieh Iyt o fmtar w2 7

(A) Tl e (B) Fretare

(C) B! HftRrH (D) B Aftew aftrra
Who are the makers of “Microlithic tools” ?

(A) Homo Erectus (B) Neanderthals

(C) Homo Sapiens (D) Homo Sapiens Sapiens

49. Torma wg foh ‘THS WA TS 3R WHE-TATER0T < AR B 7

(A) T =TEes (B) HeHTER
(C) =red feid (D) ¥R Heer
Who said that ‘Sociology is the study of man and human-environment relationship’ ?
(A) Fair child (B) Maclver
(C) Charles Darwin (D) Gregor Mendel
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= feU T Q FUAT H W TH B ATHRYA (A) IR G HI T (R) FHET TR
ATReM (A) : TSIl A S{ae 6l Th foRivat & |
ek (R) : A A &9 & 397 TYE % 31T GeEd & fehe Tueh # & B |
w@wmmﬁ%mﬁﬁmﬁ%ﬁﬁwﬁﬁﬁwﬁwaﬁwﬁ |
) (A) 3T (R) AT el & 3T (R), (A) 1 wEl =meen @
(B) (A) 3T (R) 3T T & W (R), (A) 1 T =amE 7E 2

(C) (A) ¥l 2 g (R) T

(D) (A) 7T & T (R) &l &
Given below are two statements; one is labeled as Assertion (A) and other is labeled as Reason (R).
Assertion (A) : Sociality is a feature of human life.

Reason (R) : Humans inevitably live in close contact with other members of their group.

In the light of the above choose the correct answer from the options given below :
(A) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(B) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(C) (A)is correct but (R) is not correct

(D) (A) is not correct but (R) is correct

A FHeeE & fmiar b 8 ?

(A) TS SR (B) G =5 T

(C) &, 3. 3aEH (D) Torstm siet T
Who is the founder of Indian Anthropology ?

(A) Rabindranath Tagore (B) Sarat Chandra Roy
(C) B.R. Ambedkar (D) Biraja Shankar Guha

B! e I VT S{TaTed HEl 8 TTed g3 o7 ?

(A) TSI (B) IRt
(C) ™ (D) ST
Where was the first fossil of Homo erectus found ?

(A) Tanzania (B) Morocco
(C) Taiwan (D) Java
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53.

54.

55.

56.

= = w 3rgsRe § safem i
. grfufeRe
II. AT
. fmeee
Iv. BT g™
= feu U e W | T W g
(A) LI, v, B) I, Iv, 1,1
(C) 1L LIV, I (D) 1, 11,1V
Arrange the following steps in a sequence :
I. Dryopithecus
Il. Australopethecus
Ill. Neanderthal
IV. Homo erectus
Choose the correct answer from the code given below :
(A) LI v, (B) I, Iv, 1,1
(C) 1L LIV, I (D) 1, 1,1, 1V
FTgsaasft AR fohaeh gy feam mam 7 ¢
(A) TR (B) ITed SRfA
(C) HIeYH (D) dSEH
Who has given the nomenclature of invertebrates ?
(A) Lamark (B) Charles Darwin
(C) Malthus (D) Weisman
I o SrfuRies % s waf § fie § 2
NBEEUSERE B) forer wda
(C) P Ted (D) Her wEd
Where has evidence of Dryo-pithecus found in India ?
(A) Shivalik Hills (B) Vindhya Hills
(C) Kaimur Hills (D) Malay Hills
SHITTHA HTHE <l huTel &aar o fohat it 8 7

What is the approximate Cranial capacity of a Cro-Magnon man ?
(A) 1150 CC (B) 1360 CC
(C) 1590 CC (D) 1690 CC
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57.

58.

59.

e =t we 3rgsRn § Safem Hifse
|. P HH
II. . 3. T AT HH

IIl. BeaIqL A

V. TS STgad SHsTTd ST

(A) LI v, B) LIV, I,
C) 1L LIV, I (D) 1, 1,1, 1v
Arrange the following steps in a sequence :
[. Lokur Committee
II. B. K. Roy Burman Committee
Ill. Haldipur Committee
IV. National Commission on Scheduled Tribes
Choose the correct answer from the code given below :
(A) LI av, B) I, IV, 1,1
C) L LIV, I (D) 1, 1L, 1, 1v

fore yhR & 70T T e it aotg el o g % fewd R geEH BT ® 7

(A) gfeereher (B) ZTEFCiIheM
(C) feferem (D) S
Which type of chromosomal aberration involves loss of a segment of a chromosome ?
(A) Duplication (B) Translocation
(C) Deletion (D) Inversion

Yfeg qRaTTT T et fhe T o fea @ 7

(A) T (B) HEATC
(C) ST (D) Tord
The famous Palaeolithic site Bhimbetka is located in which State ?
(A) Rajasthan (B) Madhya Pradesh
(C) Uttar Pradesh (D) Gujarat
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60.

61.

62.

63.

FY ek He o Ieferh@ o oI -1 1 gftg & 7

(A) Terrefa (B) TS

(C) wrEerE (D) BIATEH

Which epoch is known for the emergence/evolution of modern humans ?
(A) Miocene (B) Pliocene

(C) Pliestocene (D) Holocene

fefefaa & @ fop wifsrematt & Sge 72 g 2
(A) TOIRT HITTeRT (B) The Tad U
(C) AT T&d T (D) YrTaTEe

In which of the following cells nucleus is not formed ?
(A) Nerve cells (B) White blood cells

(C) Red blood corpuscles (D) Thrombosin

“Rorep fergaea” wreg it w1 fopeq 1 7
(A) Tefaerh ST (B) fFerhig Méw
() . . I (D) TS STEHA
Who coined the term “Thick description” ?
(A) Radcliffe-Brown (B) Clifford Geertz

(C) P.V.Young (D) Alan Bryman

frafafga 9 9 frea “Toee’ sree er on 7

(A) S fiee (B) i Hea

(C) WhIf&® Tee (D) =Te eI
Who of the following had coined the term ‘regression’ ?

(A) John Milton (B) John Mendel
(C) Francis Galton (D) Charles Darwin
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64.

65.

66.

67.

68.

e 0 9 formm “Bffedt, W Ue TmRd” A gEde i aE fRar

(A) Bt T B (B) T
(C) &1 TG Sl (D) & TF HIT
Who among the following authored the book titled “Heredity, Race and Society” ?
(A) Huxley and Haddon (B) Kalmus
(C) Dunn and Dobzhansky (D) Heath and Carter

AEHT A TG I S A H AT - Fohd HeifRT dehiich a1 ITAFT feham o ?

(A) TR (B) T
(C) T (D) U § § g &l
Which of the following sequencing technology was used by Junwang to study Yoruba ethnic group ?
(A) Sanger (B) lllumina
(C) Roche (D) None of the above

Tt fage % g3t o ?

When did the Santhal Rebellion take place ?
(A) 1630 — 32 (B) 1741 -—43
(C) 1855 —57 (D) 191214

“STeqeal STy SAtEm fohg Ay fepar T o7 ¢

In which year was the “Untouchability Offences Act” passed ?
(A) 1953 (B) 1954
(C) 1955 (D) 1956

YA i 6l e 1 Faiies Yfawrd aTell Tsd SiH-d1 8 7

(A) HERTSE (B) T
(C) weIseH (D) ferm
Which is the State with the highest percentage of Scheduled Caste population ?
(A) Maharashtra (B) Punjab
(C) Madhya Pradesh (D) Bihar
-19-
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69.

70.

71.

e 8 9 forem “samafiEA” wreg weqa femam o ¢

(A) . 1fig (B) IR, sHfsH
(©) Th. it (D) ferves
Who among the following provided the term “Dionysian” ?
(A) M. Mead (B) R. Benedict
(C) F. Nietzsche (D) Linton
= =61 s e o safeya Hifs
[. ISHTNIUT hleT
II. g I
1. hTET
V. drH 90T shicd
(A) 1, 11,1V, 111 B) 1,1V, 1, II
(©) 1,11V, | (D) 1,11, 11, IV

Arrange the following steps in a sequence :
I. Neolithic period
Il. Iron age
Ill. Bronze age

IV. Chalcolithic period

Choose the correct answer from the code given below :
(A) L1 Iv, i B) LIV, 1,11
(C) 1,1, 1v, 1 (D) 10,1, v

T <hl AT JAHAT 1 fgra foraa afaarfea femam 2

(A) B (B) TSTeW SIfEeE
(C) TH. W=, HiA (D) 3. fa. ¢ew
Who has propounded the principle of psychic unity of man kind ?

(A) Henry Maine (B) Adolf Bastian
(C) L.H.Morgan (D) E.V.Taylor
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72.

73.

= feU T FUA H W TH B ATHYA (A) IR G HI qo (R) FET TR
FfReA (A) : T % AN @01 S9shy o 9o B 2 |
ek (R) : TATSROT T 3 YRR IR0 9T Hi{ereh JoT 9T & |
w@aﬂwﬁ%sﬂaﬁﬁﬁmﬁfﬁaﬁﬁwﬁﬁﬁwﬁ%@wgﬁ:
) (A) 3 (R) <T@l & 3 ( R) (A) hi Wl =@ B

)( A) 3 (R) G & & 3 (R), (A) I Tt ST TE R

(C) (A) W&l &, W=g (R) TTeid 8

( ) (A) T 2, T (R) T R
Given below are two statements, one is labelled as Assertion (A) and other is labelled as Reason (R) :

Assertion (A) : The Physical characteristics of a race are inherited.

Reason (R) : Environment has the foremost influence on these physical characteristics.
In the light of the above choose the correct answer from the options given below :
(A) Both (A) and (R) are correct but (R) is the correct explanation of (A)

(B

) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(C) (A) is the correct but (R) is not correct
)

(D) (A) is not correct but (R) is correct
T — | G - 115 Ty GAfad A aen gieat o F= fow T e @ 9@ 3 g
g -1 g -l
a. o l. 'aﬁ'ﬂﬁ
b. T II. grfe
c. IRER NI, g8
d. S| Iv. Afern
e
(A) a=IL,b=1l,c=1l,d=1V B) a=Il,b=1ll,c—1,d=1V
(C) a=1IV,b=1Il,c=1l,d-1 (D) a=1V,b=1ll,c=1l,d-1
Match List — | with List — Il and select the correct answer from the codes given below the lists :
List -1 List -1l
a. Class I. Homo
b. Order Il. Homonidae
c. Family . Primate
d. Genus IV. Mammalie
Codes :
(A) a=IL,b=1l,c=1l,d=1V B) a=I,b-1ll,c—1I,d-
(C) a=IV,b=1Il,c=1l,d-1 (D) a=1V,b=1ll,c=1l,d-1
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74, FH -1 g - 1% Ty gHfera e qen g & A= for e e @ wd sw g

g - g -1l

a. goe fot . g arefir 31 figeq

b. T Ht. ggeA II. g figar 31 sfen

c. 9. TH. §IA . T8" 36 gfea

d. sff. wd. & Iv. S wfeti=ed $9 € ugererd
He:

(A) a=l,b—Il,c—Ill,d=1IV (B) a—ll,b—1I,c—Ill,d=1IV
(C) a—Il,b—1,c—1IV,d—1l (D) a—IV,b—1lll,c—1Il,d—I

Match List — | with List — Il and select the correct answer from the codes given below the lists :

List -1 List -1l
a. Herbert Risley I. The wandering of peoples
b. A.C. Haddon Il. The people of India
c. J. H. Hutton lll. Census of India
d. B.S. Guha IV. Racial elements in the population
Codes :
(A) a=1l,b=Il,c—Mll,d=-1IV B) a-Il,b—-I,c—Mll,d-1IV
(C) a=Il,b=1,c—=IV,d-1l (D) a=1IV,b=1lll,c—=1l,d-1

75. T Wl Uk IreRH § Safeya Sife

| =HR
IIl. &0 Hogret
Il ATSshIfcTY
V. &I
el fou 0 ke # @ wE 3o AT
(A) LI, Iv, B) I, Iv, 1,1
©C) I LIV, I (D) 1, 1L, 1, 1v
Arrange the following steps in a sequence :
I. Chopper
II. Hand axe
IIl. Microlith
IV. Blade
Choose the correct answers from the code given below :
(A) LI v, B) L Iv, I,
C) I LIV, I (D) 1, 1L, 1, 1v
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76. “YURAR qUaT o ek feREeh! AT STaT § 7
(A) FFABAUST HiEH (B) ST HTfe
(C) HAN. 3. WAL sElel (D) SN et
Who is called “Father of Indian Archaeology” ?

(A) Alexander Cunningham (B) John Marshal

(C) R. E. Mortimer Wheeler (D) Dayaram Sahani

77. Tfafed 4 @ %4 |fwa (Tfes) samfgs faRwan @ 7

) fow e forepedi & @ W) IR A ;
(A)%h_olaa,bEvﬁ'{c (B)%h_claa,c?:?ﬁid
(C) had b, ¢ 3 d (D) had a, b 3 d
Which of the following are active biometric characteristics ?
a. Fingerprint
b. Signature
c. Key stroke pattern
d. Facial recognition
Choose the correct answers from the options given below :
(A) a,bandconly (B) a, candd only

(C) b,canddonly (D) a, banddonly
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78.

79.

= Q1 YA & T 8 T B AR (A) TUT G I HR (R) FHET WG

AR (A) : RIS Teh AT I & il TTfd <6 fave ®arenes gfteshivn | safaadi & 79 9
el 7 |

HROT (R): AT TG IR i TTfasiier sraeen § fauw I 2 |
H= fe2 T ge | wE I G
Fe:
A) 3T (R) ST & 8 3T (R), (A) 1 HEt sameam e 2
(A) 3R (R) QM1 & & T (R), (A) 1 HEl AT T A @
(C) (A) ¥ & T (R) T &
(D) (A) T B g (R) & 2
Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R) :

Assertion (A) : Kinanthropometry is a scientific discipline that is concern with the measurement of

Individuals in a variety of morphological measurement of movements.
Reason (R) : The measurements are taken in the dynamic state of human body.
Select the correct answer from the codes given below :

Codes:
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B)
(C) (A)is true but (R) is false
(D)

Both (A) and (R) are true but (R) is not the correct explanation of (A)

(A) is false but (R) is true

%S T H Teh YE Uella hl 3fefd & SmaEs(e, T $HICT UG T8l 8| $HehT Tsh 3¢l Hsi §
uTefieTaeett 8 | 39 qeF I FE ST 2

(A) TSI (B) Ushifereh Tefier
RERERE (D) TEIHE

In some cases, despite the presence of a dominant allele, the phenotype may not be present. One example

of this is polydactyly in humans. The phenomenon is called
(A) Expressivity (B) Multiple alleles

(C) Penetrance (D) Co-dominance
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80.

81.

82.

83.

Freafefea ® @ & 7qsai § TfReTfad’ w1 3¢E B 7

(A) ABO T Tig S¥ITIshH

(B) Tfesfastg ca=n &1 TT &l G &
(C) ETHIRITTAT T < ek o VI ohl THTIId T &
(D) Toreret Tt TRtRIT @t Tk Ul shi SwTerd e @
Which of the following is an example of ‘Epistasis’ in Humans ?
(A) ABO blood group inheritance
(B) Albinism masking skin colour
C)

)

(C) Hemophilia affecting clotting factors
(D

Sickle cell anaemia affecting red blood cells

HE % T8 & TR &1 fiehd i o foTQ FefaiRad o & ford uMT 3197@T SS9 o1 ST fohanm
STt & 7

(A) qE@ S (B) ek ¥
(C) M o (D) ¥E-%e YA
Which of the following index can be used to classify the head type of human body ?
(A) Facial Index (B) Nasal Index
(C) Cephalic Index (D) Commic Index

“Gor TreT’ feRE SIS o 2led & 7

(A) hiet (B) e

(C) e (D) 3rfa
‘Kunjar plant’ is the totem of which tribe ?

(A) Kol (B) Bhil

(C) Gond (D) Oraon
SRTeIfUfoRhd Teh STITCRTIEN JTEHe AT ST $91 o BIH Wd H 9T 1 o1 | I8 Tohd et | et
BAE 7

(A) <@ (B) wmX

(C) Ut g s (D) o WA

Aegyptopithecus was an olegocene primate found in the Fayum deposit of Egypt, its ancestrally
linked to

(A) Lorris (B) Lemur
(C) Old World monkey (D) Apes
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84. F — I wI G — 1| % Ty gAfAd HIfT

g -1 g -l
a. arEdl . "
b. el II. shIveT gt
c. Ul S 1. Ha /=3
d. T Iv. ot
) fow Ty forebedi & @ W) IR A ;
e :
(A) a=lllLb=I,c=1,d=1V B) a=IV,b=Ic—1l,d-1ll
(C) a=I,b=Lc—=Ill,d=1V (D) a=Lb=I,c=Ill,d=1V
Match List — I with List — Il :
List -1 List -1l
a. Vasavo I. Maria
b. Pedda Il. Konda Reddy
c. Pedda Kapu lll. Saora
d. Gamyung IV. Bhil
Choose the correct answers from the code given below :
Codes :
(A) a=IlllLb=1I,c=1,d=1IV B) a=IV,b—=I,c—=1l,d=1ll
(C) a=I,b=Lc=Ill,d=1V (D) a=Lb=I,c=Ill,d=1V

85. T % TohE JURYS % I0@H o oG YUIdcd o & H T UTHIU Shicd’ 1 JATT & & ?

(A) He T (B) " g Tfa
(OREIES (D) ST
After the excavation in which site of France the term “Mesolithic” was introduced in Archaeology ?
(A) St. Acheul (B) Mas d’ Azil
(C) Abbeville (D) Chelles

86. HEHA WINT o STUR W fehH WduTiea feham =l 3R SIfd &3 S1fd 2 7

(A) <t fom B) faferm ==
(C) Tzt 3R (D) ST TMER T
Who propounded that the Aryan race is superior race on the basis of Sanskrit Language ?
(A) V. Smith (B) William Jones
(C) Ravindra Nath Tagore (D) Bal Gangadhar Tilak
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87.

88.

89.

90.

91.

w1 4 9 forms wefua 9 7

(A) HeETe] /agaTel fermem (B) 3fru=fehdrard! femmem
(C) HEhfel STTRITHT (D) IUKT T | IS &l
Firth was associated with which of the following ?

(A) Substantivist school (B) Formalist school

(C) Culture morphology (D) None of the above

e s = 8 @ form few g @ wef@ 2 2

(A) TSt (8) T
(C) fivga (D) f=
Versilian fauna belongs to which of the following ice ages ?

(A) Gunj (B) Wirm
(C) Mindel (D) Riss

‘USLH 3T TS’ e ol 39T e & & Topereh gran femam ram o ?

(A) 3. &I, TER (B) fareret Tt
(C) & SY (D) =TSt Wi
The term ‘Rites of Passage’ was employed by whom of the following ?
(A) E.B. Tylor (B) Victor Turner
(C) Van Gennup (D) Marcel Mauss

fopg STt gy < ST aTeft TG HiY S gH SN et @ R

(A) S (B) W=
(C) mT (D) Tt
The shifting cultivation practised by which tribe is called ‘Jhum’ agriculture ?
(A) Baiga (B) Bhuiya
(C) Naga (D) Gond

garem e werEYe e 4 foh werdl § feva 7 v

(A) Rt i waTfeat (B) TRI i TgTISAT
(C) g warfeat (D) heHR
Burzahom site is located in which of the following sites ?

(A) Nilgiri Hills (B) Garo Hills

(C) Lushai Hills (D) Kashmir
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<d T & o) # f=fafed § @ wib-an wem wd 2/8 0
U — | U G %SGt T S A 2123/2123 F |
e — || : AR Tee oIfied &1 <a g 2133/2133 7 |

(A) ST B | 3R || g & (B) ST A | 3T I TTeAd &
(C) YT | TcT g wfehd Il TTeAd B (D) YT | TId & 3 || T B
Which of the following statement is/are correct about dental formula ?
Statement — | : The dental formula of old world monkey is 2123/2123.
Statement — Il : The dental formula of Tarsius, a prosimion member is 2133/2133.
(A) Both statements | and Il are correct (B) Both statements | and Il are false
(C) Statement | is true but Il is false (D) Statement | is false but Il is true
SIS SheaTol 7 R i & JIE TS 8
a. TS TSI €9
b. WA ISshid HETse!
c. VR 3nfew Sfd Sas a9
d. ITTfeTeR Rl qUT STEH e
i fo e forebett § @ R SR R
(A) e a, b, ¢ (B) &ad b, ¢, d
(C) % ¢, d, a (D) e b, d, a

What are the major organisation working for Tribal welfare ?
a. Rashtriya Majdoor Sangh
b. Indian Red Cross Society
c. Indian (Bharatiya) Adim Jati Sevak Sangh

d. Social Work and Research Centre
Choose the correct answer from the option given below :

(A) a, b, conly (B) b, c,donly
(C) c,d,aonly (D) b, d, aonly
foqmt S[gan g w1 wwreA fafie el & wifad it 2
|. Tetse ¥ Tgfa ged 317 # |
II. =T Sl SGdt 37 o WY HUTEAT ¢ AT 7 |
I, St JEfd < 1 FUTSHT HH B S 8 |
V. afER § HiS[g &9 & §9TeHT 9 S 2 |
(A) hee | 3|V Tl B (B) hered 11l 3T IV T &
(C) haed 11 3T IV TE & (D) *heret | 3T 1| T &

The chance of having fraternal twins is influenced by various factors
I. The frequency is highest among Mongoloids.
Il. The chance increases with increasing age of mother.
Ill. The chance decreases with increasing parity.
IV. The chance increases if it is present in the family.
(A) Only I and IV are true (B) Only Il and IV are true

(C) Only Il and IV are true (D) Only Il and Il are true
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95. IUY T THT hetl shi fororyar off
a. 93 YMHER AHIR
b. JTHAR WX el THI b YA gR T I18 ATt ot
c. ThAIhid H JTEIRT off
d. Tafia a5g & SgEie &1 HiE g T

= fou MU foehedi § & wd W g -
(A) I a, ¢ 3N d T & (B) st a, b I c T &
(C) %dd b, ¢ AN d&cq & (D) % a, b 3 d & &

The cave art in Europe was characterised by
a. Large herbivorous animals
b. Usually the art was found at the entrance of the cave
c. The artwork had superimposition
d. No notice of the orientation of the subject depicted
Choose the correct answer from the option given below :
(A) Only a, c and d are true (B) Only a, b and c are true
(C) Only b, c and d are true (D) Only a, b and d are true

96. “‘ITfCH THIS WISH ! JucTeddl Teh foamofi fowe o9+ < qd & Saen fmw ed 27 vEn foher
wfcarfea feam o 2
(A) UTE TS (B) TeE 3TRg
(C) T T (D) I e

“Primitive societies practice population control long before food supply becomes a consideration” was
propounded by whom of the following ?

(A) Thomas DoubleDay (B) Robert Ardrey
(C) Herbert Spencer (D) De Castro

97. 1898 % TNH TZ UFHUISIH W WINT(G o &9 H M A §Y & ?

(A) Hi. afermm (B) &5, TH. 3. T
) fasf 1 (D) Tt fafes
Who among the following was a linguistic in the Torres Strait expedition of 1898 ?
(A) C. Seligman (B) W. H. R. Rivers

(C) Sidney Ray (D) Anthony Wilkin
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98. T =1 T A § Safea Hife |

| STfEaehd
II. SRRfdaTg
. Sirg
Iv. o
= feu MU e § ° T W T -
(A) 11,1V, I B) I, 1V, 1,11
C) 1,1, 1v, 1 (D) I, 1,1, v
Arrange the following steps in a sequence :
[. Atheism
II. Animism
Ill. Magic
IV. Religion
Choose the correct answer from the code given below :
(A) 11, IV, B) I, IV, 1,1l
(C) 1,1, 1v, 1 (D) I, 1, 1v
99. IS e fafyr o1 faepm Te@ uget fopma foom ?
(A) T3, 3. WA (B) HIf® Teeq
(C) 3. . A (D) IARfhaTeS TS
The twin study method was first developed by
(A) N. E. Morton (B) Francis Galton
(C) E. A.Hooton (D) Archibald Garrod

100. A€ 9 O, N 3R Rh + ve Afgell &€ 4 A, MN 3R Rh — ve T&Y ! faarg &t 2 |
fra feu U ==t § & HH-1 == At T g fe B o7
(A) AB, MN, Rh + ve (B) O, N, Rh—ve
(C) O,N,Rh+ve (D) A, M, Rh—ve

A woman with blood types O, N and Rh + ve marries a man with blood types A, MN and Rh — ve. Of the
following which baby could have been conceived by the couple ?

(A) AB, MN, Rh + ve (B) O, N, Rh—ve
(C) O,N,Rh+ve (D) A, M, Rh—ve
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